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Explanation:
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° dLi[ln(EI +e )| = P9? (1 point)

[M-1.9, JU-Ap : 2021-22]

1
et e~ %

EE:L*

—T _ oF

I--..| E
et -~ ¢

.. Ez_ﬂ—m

Explanation:
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", ©AYLET (FAFT = 1 x 8% 8§ = 64n

W,WWW=%=16W




47. x2 4+ 2y? = 4 99 GATIH RRGA TAIF FO? (1 point)
[M-2.6, JU-A; : 2021-22]
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oy e[ 23 L
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y= 2 4 2% 8z + 4 AT A6 NI (FA(B? ¢ poiad)
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Explanation:
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dx
:>-_;15->‘~'3x2+2x—8=0:>x2+2x—8=0

=>x(x+4)-2x+4)=0..x=-4,2
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Wi, % < 0
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Explanation:

1
[SI@why] y*—x*=1 .. e=~ /1+T:\/5
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f cos® z+/sin zdz 9 NN $O? (1 point)
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Explanation:



Wh)’l 4fq, sin X =t .. cos x dx= dt.
When. x=0, t=0 and Whenx=  t=1

2 2
: fﬂ cos’ x\sinx dx = fﬁ cos’ x \fsinx.cos xdx
0 0
] 2 ]
- f (1-t) \/ﬁ = f: cos’x\/sinx.cos xdx = fﬂ (1 —t2)ftdt
0

1

3 7
1 1 1 5
> 4 2 2 2 2_14-6_ 8
fo( ) 3 7 3 7 21 21
2 2

51. ) (1 point)

1SN I

tan cos lsincot ! (

[M-2.7, JU-Ap : 2021-22]

Explanation:

© WhY| tan cos " sin cot X =X

i 13 3
.. tan cos ] sin cot™ = ==
4 4

(1 point)

[M-1.1, JU-A : 2021-22]
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Explanation:



(ng ‘;‘) L (K=2)x9-12=0

= 9K -18-12=0 = 9K = 30 :>K=-139

53. x2.5x+ 5= 0 ANSACTATAZT a 8 T o3 + p° AT TN FO? (1 point)
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Explanation:

SI@QIWhY| X’ —5x +5=0 97 T 00 S B -, o+ B =S5

ap =5; 43, a3+B3=(a+B)3—-3aB (o +B)
=5 —-3x5x%x5=5(

54. /3 AHTHA R2H0 TN T 120° (FITT 9Ff6 [Tvro sroy g ortmg (1 point)
g NN F9?
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55. 1 (1 point)
A= (2) d9ds B=(456) (T AB=?
3
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Explanation:

]
S{@WhY|A=|2 [aRB=(4 5 6)
3

SOA qIT@I 3 x ] QB @I @l 1 x 3
L AB @S NI@RE@ 3 x 3 AN C (O TR |

6. cos x + secx =2 (A x I NN F9O7 (1 point)
[M-2.7, JU-Ay : 2021-22]
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Explanation:

Wh)’ COSXtsecX=2 = Ccos X +_1_= )
COSX

= cos°x+1=2cosx=>cos’—2cosx+1=0
= (cosx—1)’=0=cosx=1 = x=2nm, ne z

57. GFIB TTTAL FOF y -WTHd YFGOIT 3 a2 (TG 2x + 3y +5=0 g7 (1 point)
SO a9 g | (@Yo TN (FH6?

[M-1.3, JU-Aj : 2021-22]
®3x-2y+6=0
() 3x-2y-5=0
) 3x-2y+5=0

L 3x+2y+13=0

Explanation:

ﬂﬁ,@‘nﬁﬁﬁ‘mﬂiy=mx+c = y=mx+3

EISIEP 2x+3y+5=0ﬂﬁ'ﬁ'€(§‘l‘l§ﬁﬁmm=§

2

y=%x+3:>2y=3x+6:>3x—2y+6=0



(1 point)

8 / 7€ e SANHAFS?
res
[M-1.10, JU-A; : 2021-22]
U In|e*(1 + z)| + C
® In|ze?| + C
Cef(l+az)+C
U ze® + C

Explanation:

|
4, x e =
“’hyfe +xe f dx KE = Z

X e~ = xe+e*dx=dz

= Injz|+c=> In([x e’ +c

59. Y9 TCO 3x - dy + 5= 0 TAA LA AGNAY FO? (1 point)

[M-1.3, JU-Ay = 2021-22]

Explanation:

.@]Wh}'\ {ﬁﬁ"i?{ﬁv, iy = &_0 +5_.=

3"+ 4

3

W [ h

60. p 492 2P NIV H2T6 It AAN® VT Fara a9 Fgorgfoa sty s (1 point)
AFF I T4 ARA FAlghd e W o© AT | P 9T N FO
AFF|

[M-2.8, JU-A; : 2021-22]
@
OF:'
12
16

Explanation:



[SI®]WhY|«fs, P @ 2P St 72f6 <o T4t @it o, 9L =1, P

G7 AT SN O (@I Tty 30 |

. SPTS, tan@ = —2L SN O 93 tang = — 2P +8) sinat

P + 2P cos o 2P + (2P + 8) cosat

. 2Psina _ (2P +8)sino

- P+2Pcosa 2P + (2P + 8) cos

61.

1 -4
] +2coso. P+8coso

Shotcut: P <R Q WITAE 30 I oL THIC TeFiieT W P 8 Q
aaoﬁar’Pﬂe Q’ Ie79 foray Fater I eifeg e wisifafoe

" P=4 9F&F

Pl
I SR Q =Q
P 2P .

1 1 1 (1 point)
a b c | Rfretsa aw F92

a2 —bc b —ca c? — ab

[M-1.1, JU-Ap : 2021-22]

|- 2
' abc
®

\_ azbZCZ

Explanation:



| 1 1

Si@)sol"| | 2 0

0

= a—Db b—c
a’—bc—b*+ca b’—ca—-c’+ab c’—ab

0

1

C
la?—bc b*—ca c*—abl|

1| ro
. c|=c1—cz}
 C'3=C—C3

= 1{(a—b) (b*—c* + ab—ca) — (b—c) (a*— b* + ca — bc)}
= (a—=b){(b-c)(b+c) +a(b—c)) — (b—c){(a—Db)(a+b)+ c(a—b))
=(a—b)(b—c)(a+b+c)—(a—b)(b—-c)(a+b+c)=0

ASPECTS SUPER TRICKS;]

Aot Element ST 5@R<9itg 9090”

[a > a’*—bc; b — b®*—ca; ¢ = ¢ —ab]
" Element ST SERSIE A0AR 1% [Aefigsa T =77 |

Res]a=1,b=2,c=3 @
] ]

1 1 1 1
a b C =1 1 2 3[=0
a’—bc b’—ca c¢?—ab =5 1 7
62. 2x2 . 7x + k = 0 TN HATNOT AFHFB Y 3 (A k 97 VN FO? (1 point)

Q5
4
2
@3

Explanation:

[M-2.4, JU-A; : 2021-22]

SI®why| @z =3 . 2%x32—7x3+K=0
= 18-214+K=0 -~ K=3

62 di (sin ﬁ) =p\D?

15

Explanation:

(1 point)

[M-1.9, JU-A; : 2021-22]



d . 1 COS \/X
SIEHY] L sin v = cos Vi » z\ﬁf’"iz\/;

64. E E | point
¥y _ I _ 1 wiftqeiBd S iSiuaol $97 o

64 36

[M-2.6, JU-A, : 2021-22]

® 5/4
) 4/5
O @
5
8

B

Explanation:

Ay X 6 /64+56 10 5
QSOI %2"‘33_] .;e— 1—}--87: e _=?=E

65. 2x + 3y + 4 = 0 (AYTA BHNT TF 932 (3.-2) [T A SI/Fass (1 point)
fAtea (@62

[M-1.3, JU-Ap : 2021-22]

() 2x+3y+13=0
L 2x-3y-12=0
Ix-2y+4=0
®3x-2y-13=0

Explanation:

SIOIWHY] 2x + 3y +4 = 0 @9 7% @&t 3x—2y +K = 0
qA(3,-2) P . 3x3-2(=2)+K=0
=>K=-13 . Jlead=3x-2y—13=0

66. "SIBTAIT' (I TN STAH? (1 point)
[JU-Ap : 2021-22]
® 23R
C e
Ao

Explanation:



SBTE-SG eREd SAgE-I=R |

67. 'Souvenir' *TtRG ﬂﬁﬁrﬁ?ﬁ*ﬁ? WF{%? (1 point)

[JU-A; : 2021-22]
® 75

Explanation:

Sauvenir- &% Wall Magazine- ifeisl; Draft-
371el; Medal-*M< |

68. fNTHR (FIIB TS *TF N2 (1 point)
[JU-A; : 2021-22]
O oars
® syt

Explanation:

AT, CoMvfer, SR~ ST | S, SREa- &g
i |

69. 'Why are you doing this?' — Change it into passive voice. (1 point)
[JU-A; : 2021-22]
_) Why this is done by you?
) Why is this done by you?
@ Why is this being done by you?

' By whom is this done?

Explanation:



Wh Question TFActive interrogative sentence &
passive 909 Wh Question + tense 9 Person S Auxiliary
verb + object (& subject + being (Sentence &' Continuous tense
RC) + V3 + Preposition + Subject (& Object.

—

70. Find the pair which has some relationship 'program : software'. (1 point)

[JU-A, : 2021-22]
) Pointer:network

(_ Pointer-Cursor

! Pointer: Monitor

@ Pointer Mouse

Explanation:

IS[@]Wh}’] Program computer @9 fSota software (& ANIBIEI
34 | Option D @ AT YT Same relationship JICR |

71. Chosse the correct preposition in the following sentence -

(1 point)
I agree your suggestions.
[JU-Aj : 2021-22]
) at
® On
Dto
' About
Explanation:
Agree On— (I [T A& 267 |
2. (I FOIGIBr Mo 2B 8 WS 676 H LI TN? (1 point)
|JU-Ay: 2021-22]
® 31 SnoE

Explanation:



SOWhY| 52 {6 crst 3417 & (@ TS TGq! IIZ0 W O

T SR 0T | YT SUSIET G 2490 8 0 HCo2P AT |
WSG90 Hod W4T A0 @l S=iafv I |

73. (3D.C6)(+(506.47)g=? (1 point)
[JU-A; : 2021-22]
() (184.62)g
(0 (184.60)¢
® (184.62)¢

) (182.62)g

Explanation:

© AT @m AR FABE I Q5 -

3D.C6 — 111101.11000110
506.47 = ~101000110.10011100
110000100.01100010

21 @rEFece Hexadecimal- @ SATS:-
0001 1000 0100 0110 0010

2
1 3 4 6 2

=(184.62)16

| . =

74. RINRTAD VG O Y FO? (1 point)
[JU-Ajy: 2021-22]
) 0.7Mbps
) 0.2Mbps
" 0.3Mbps
® 0.5Mbps

Explanation:

_é[ij]{h’_h_ﬂ_cfﬂﬁ < (VolP), Srae Jiofe, Rk e, 3-rgs
qQg W_Q.S_Mbps |

-— a .

75. 5f6 ﬁ@ﬁﬁ?mmﬁﬁﬁﬂﬁﬁﬂ (1 point)

[JU-A; = 2021-22]



16
® 32
64

Explanation:

m_aﬁmﬁmﬂﬁﬁmfé%q GISITRE
@I (PIGE VIqET @G FIAI0D ForRfTe o | forereiEd
FAU6F TR n T ACOAT 2" T |

76. Bfq Optimization ITC fNTHA (FIRG JATT 12 (1 point)
[JU-A, : 2021-22]
@ TG S8 (R (el
) SrEE STRG (6 a1
BTG W ATTION 1 F1

QAP Compress AT

Explanation:

[SIR]why| =< SFbTErey T BRI (THGA 2, (TRIRT
e maaE afEa ) v afeas =2<T e 9 AAffeeq a9 @
BT DO TR FIREE AP (R0 A |

71. ABC + ABC + A a9 A1 XTAL- (1 point)
[JU-A; : 2021-22]
JA+B+C
JB+C
) A+C
®4+cC

Explanation:

[SI®]why] ABC + ABC + A
=AC(B+B)+A=AC+A[B+B=1]=A+AC
=(A+A)(A+C)[."A+BC=(A+B) (A +C)
=1.(A+C)=A+C_

78. <ol Type="i"> IXGBANAT BN AN S ata FNS Fga T 6 (1 point)
STHT (ARTGT AN T TH?



[JU-A; = 2021-22]
O LI

a,b,c

1,23

® (FHH2 Y

Explanation:

<ol type = “a” > @q FICG70 a, b, c...
<ol type = “A” > Q9 SIE690 A, B, C,..

<ol type = “i”. > G SMCGD 1, ii, iii, ..

<ol type = “I” > @q 91650 I, II, 111, ..

79. SIRJME FHIRW 8 WHNT 473 TNH 99 WYy e - (1 point)
[JU-A; : 2021-22]
® =06 fNFe (R
" SYNiS W ({eT
ST
) O AT 31 YR (el

Explanation:

[SIOIWhY] 3155w faaee ficy T3aR S S e
O] TIF I @ 5789 |

Part-B: Extra Syllabus

80. 40kg 8 60kg OTHH @ﬁﬂmhﬂﬁfﬂlﬂms_l 85ms -1 (JTST AT F fqoate (1 point)

S (AT TSI STV ATF WAAS 411 TieT | AT/ AT IFRT A0
T& (W FO (051 5e03?

[P-2.4, JU-A; : 2021-22]
Tms~

® 15!

) 3ms 1

Explanation:



ST FRIF SGIFAICE, myu; + myup = (my + my,)v
oy =M —mu, _40x10-60x5 | uy = +ve

m; + m, 100 Uy —> —Ve
S V=1ms"




